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	2007 P1
	[image: image1.png]3. 'There are 400 people in a studio audience.

The probability that a person chosen at random from this audience is male
5
is 3.
8

How many males are in this audience?
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	[image: image2.png]4. Two identical dice are rolled simultaneously.
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Find the probability that the total score on adding both numbers will be
greater than 7 but less than 10.
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 with no working gets no marks.
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	[image: image5.png]7. John’s school sells 1200 tickets for a raffle.
John buys 15 tickets.

John’s church sells 1800 tickets for a raffle.
John buys 20 tickets.

In which raffle has he a better chance of winning the first prize?

Show clearly all your working.
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	[image: image6.png]8. A mini lottery game uses red, green, blue and yellow balls.
There are 10 of each colour, numbered from 1 to 10.

The balls are placed in a drum and one i1s drawn out.
(a) What is the probability that it is a 6?

(b)) What is the probability that it is a yellow 6?
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	[image: image8.png]7. A garage carried out a survey on 600 cars.

The results are shown in the table below.

Age

Engine size (cc)

0-1000 |1001-1500|1501-2000| 2001+
Less than 3 years 50 80 160 20
3 years or more 60 100 120 10

(@) What is the probability that a car, chosen at random, is less than
3 years old?

() In a sample of 4200 cars, how many would be expected to have an

engine size greater than 2000cc and be 3 or more years old?
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(a) ‘6'(‘)—6
(6) 70

or equivalent
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Fifty people took part in a Health Promotion Campaign. They were asked

whether or not they smoked cigarettes.

the responses.

The following table summarises

Smoker Non Smoker
Male 3 21
-Female 8 18

What is the probability that a person chosen at random from this group is

(a) male;
(b) asmoker;

(¢) afemale who smokes?
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